
setp pid.z.lgain [JOINT_2ll
setp pid.z.Dgain UOINT_2jD
setp pid.z.bias UOINT_2lB|AS
setp pid.z.FFO IJOINT_2]FFO
setp pid.z.FF1 UOINT_2]FF1
setp pid-z.FF2 IJOINT_2]FF2
setp pid.z.deadband [JOINT_2]DEADBAND
setp pid.z.maxoutput [JOINT_2]MAX_OUTPUT
setp pid.z.error-previous-target true

net z-index-enable <=> pid.z.index-enable
net z-enable => pid.z.enable
net z.pos-cmd => pid.z.command
netz-vel-cm{ => pid.z.command-deriv
net z-pos-fb => pid.z.feedback
net z-output <= pid.z.output

# ---PWM Generator signals/setup--

setp hm2_5i25.0 .7i77 .0.1.analogout2-scalemax [JOINT_2]OUTPUT_SCALE
setp hm2_5i25.0 .7 i77 .0.1.analogout2-minlim UOINT_2IOU.TPUT_MlN_LlMlT
setp hm2_5i25.0.7i77.0.1.analogout2-maxlim [JOINT_2]OUTPUT_MAX_LlMlT

net z-output => hm2_5i25.0.7i77.0.1.analogout2
net z-pos-cmd <= joint.2.motor-pos-cmd
netz-enable <=joint.2.amp-enable-out

# --Encoder feed back signals/setup--

setp hm2-5i25.0.encoder.02.counter-mode 0
setp hm2_5i25.0.encoder.02.filter 1

setp hm2_5i25.0.encoder.02.index-invert 0
setp hm2_5i25.0.encoder.02.index-mask 0
setp hm2_5i25.0.encoder.02.index-mask-invert 0
setp hm2_5i25.0.encoder.02.scale [JOINT_2]ENCODER_SCALE

net z-pos-fb <= hm2-5i25.0.encoder.02.position
net z-vel-fb <= hm2_5i25.0.encoder.02.velocity
net z-pos-fb => joinl-2.motor-pos-fb
net z-index-enable joint.2.index-enable <=> hm2_5i25.0.encoder:02.index-enable
netz-pos-rawcounts <= hm2_5i25.0.encoder.02.rawcounts

# --Bremseverzögerung Z-Achse

loadrt timedelay count= 1

addf timedelay.0 servo-thread

setp timedelay.O.on-delay 1

setp timedelay.0.off-delay 0

net z-enable => timedelay.0.in
net verzoegeru n g-out timedelay. 0. out => h m2-5i25. 0 .7 i7 7 .0.0.output-O0

# SPINDLE
#*******************
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